Pt. Mohan Lal S.D. College for Women Gurdaspur



2.1.1 STUDENT ENROLLMENT

Principal

Dr. (Mrs.) Neeru Sharma

Pt. Mohan Lal S.D. College for Women, Gurdaspur



Guru Nanak Dev University, Amritsar **REGISTRATION FORM**



RETURN FEE CHALLAN

Name of the College: PANDIT MOHAN LAL S.D. COLLEGE FOR WOMEN, GURDASPUR (Regular)

Class: Master of Commerce Semester - I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 20/10/2022 02:03 PM)

Challan No.: 2033082 Date: 30/09/2022 12:36 PM Valid Upto: 07/10/2022 11:59 PM Total No. of students: 4

naman	140 2033002 Date . 30/03/2022 12.30 FW	Valle opto . officizozz iii.	33 1 III 10101	
S. No.	Fee Type	No. of students	Amount per Student	Total Amount
1	Registration Fee	1	400	400
2	Enrollment Fee	0	300	0
	Special Migration Fee	1	350	350
3	Verification Fee	9	1000	1000
4		4	250	250
5	Eligibility Fee	ĭ	200	200
6	Eligibility Form Fee	3	300	900
7	Re-Cheking Fee	0	400	0
8	Continuation Fee	4	50	200
9	World University Fee	4	100	400
10	Student Holiday Home Fee	4	200	800
11	Youth Welfare Fee	127/ A	1070	4280
12	University Sports & Development Fee	4	60	240
13	College Development Fee	4	20	80
14		0	3500	0
15		0	3000	0
16	Eligibility Fee (Foreign Students)	0	0	400
17	Late Fee	4	100	400
18	Alumni Fee (Colleges)	0	400	0
11	Re-Registration Fees	4	0	0
2	Challan Late Fee (RR)			9900*
1527	Grand Total (Du	e Date : 07-10-2022)	utherized t	o collect it from

^{* -} If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Potu	rn submitted f	or following ca	ndidates		Challan	Candidate Type	Late Fee
s.	Student ID	Name	Gender	Father Name	No.	(R1) Already Regd. with GNDU and Admitted to new	100
No.	2019010019124	ARSHPREET	F	IQBAL MASIH		Degree (B1) Already Regd. with GNDU and Admitted to new	100
,	2019010019141		F	KIRPAL SINGH	2033082	Degree (B1) Already Regd, with GNDU and Admitted to new	100
2			F	SOHAN LAL	2033082	- (100
3	2019010020166			SUKHWINDER	2033082	Officer Boston	lsa:
4	2022010040330	AMANPREET KAUR	F	SINGH			Principal Lal S.D. College Lan, Gurdaspur
						, han	Lal S.D. Copur
						Pt. Mona.	nen, Guide
						for 4.	



Guru Nanak Dev University, Amritsar **REGISTRATION FORM**



RETURN FEE CHALLAN

Name of the College: PANDIT MOHAN LAL S.D. COLLEGE FOR WOMEN, GURDASPUR (Regular)

Class: B.Sc. Semester - I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 20/10/2022 02:10 PM)

		Return Submission Re	sult (Printed On: 20/10/2022	02:10	- 1917	
	PAN SHIPPENDE SHAVE	Return Submission Re Date : 30/09/2022 03:54 PM	Valid Upto : 07/10/2022 11:	59 PM	Total No. of st	udents: 62
Challan	No.: 2033222	Date: 30/09/2022 03:54 PM	Valid Opto : c.,	Amount	t per Student	Total Amount
S. No.	Fee Type		No. of students	7.111.5	400	32000
1	Registration Fed		80		25.XS)	20400
	The Section of the Se	•	68		300	4200
2	Enrollment Fee		12		350	
3	Special Migratio	on Fee	12		1000	12000
4	Verification Fee	B			250	3000
5	Eligibility Fee		12		200	2400
	Eligibility Form	Fee	12		(T) (E) (T)	600
6			2		300	0
7	Re-Cheking Fe		0		400	100000
8	Continuation F	ee	82		50	4100
9	World Universi	ity Fee	82		100	8200
10	Student Holida	y Home Fee			200	16400
11	Youth Welfare		82		1070	87740
(1707)		orts & Development Fee	82		X-70.000	4920
12			82		60	5757
13		opment ree	82		20	1640
14	NSS Fee		0		3500	0
15	Verfication Fe	e (Foreign Students)			3000	0
16	Eligibility Fee	(Foreign Students)	0		0	0
17	North Control of the		0		100	8200
	100.0000 mg/4010000	Colleges)	82			0
18	2000 HE - EXAMPLE -		0		400	
19			82		0	0
20	Challan Late	Fee (RR)	Date : 07-10-2022)		*	205800*
		Grand Total (Due	Date . 31-10-2-1		h. authorized to	collect it from

* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted for following candidates

R	etur	n submitted f	or following can	didates		20 00	1000 L 100	Late
	5.	Student ID	Name	Gender	Father Name	Challan No.	Candidate Type	Fee
	10.			F	RAMESH CHANDER	2033222	(B1) Already Regd. with GNDU and Admitted to new Degree	0
		2021010025835	TO DEPOSIT OF STANKING STAGET	F	SUBHASH CHAND SHARMA	2033222	Punjab School Education Board	0
	2	2021010058280	TARANPREET	F	BALWINDER SINGH	2033222	(B1) Already Regd. with GNDU and Admitted to new Degree	0
	3		KAUR HARSHITA	F	MANOJ KUMAR	2033222	Punjab School Education Board	0
	4	2022010003209	CHAHATPREET	F	MANJEET SINGH	2033222	Other Boards/Universities	0
	5	2022010004346	KAUR	F	BIMAL KUMAR	2033222	Punjab School Education Board	0
	6	2022010005282		F	ASHWANI THAPA	2033222	Punjab School Education Board	0
	7	2022010007386	KARAMJEET	F	SURINDER SINGH	2033222	Punjab School Education Board	•
	8	2022010030318	10.0	F	SATPAL	2033222	Punjab School Education Board	o Dan Prit
	10		HADMANDREET	F	GURBHEJ SINGH	2033222	Punjab School Education Board	7 9 00
	11		- Managemen	F	SURINDER KUMAR	2033222	Punjab School Education Board	Plo Mohan Lai S. Drd
	12			F	BITTU MASIH	2033222	Punjab School Education Board	Mohamen, Ge
	13			F	SATNAM SINGH	2033222	Punjab School Education Board	in their
	14			F	HARDEEP SINGH	2033222	Punjab School Education Board	U.S.
	15		ADCUDDECT	F.,	LAKHWINDER SINGH	2033222	Punjab School Education Board	0

		20/22, 2:10 PM					D. J. L. Callena Adminsion		
		20220100300	38 KIRAN THAKUR		and a second	DOMESTICAL CO.	Punjab College Admission	. 0	704
		100306	46 YOCITA	F		2033222	Punjah School Education Board	0	
		20220100307	AS SALONI	ŗ	Samme En Baro		Punjab School Education Board	õ	-
		20220100309	42 NAVDEED KAUD	F	outday alter	2033222	Punjab School Education Board	0	(
		20270100309	52 MANPREET KAUP	, ,	OAITAL SMON	2033222	Other Boards/Universities	0	
		21 20220100309	77 AKANKSHA		- Intermodificate	2033222	Punjab School Education Board	U	
		22 20220100309	95 SUREKHA	F	AMARON SINGR	2033222	Punjab School Education Board	O	
		23 20220100310	SP POOJA	F	SWARAN SINGH	2033222	Punjab School Education Board	0	
		24 20220100310		F	HARDEV SINGH	2033222	Punjab School Education Board	0	
			2 LOVELEEN KAUR	F	HANAK CHAND	2033222	Punjab School Education Board	0	
		26 202201003116		F	KANWAR SINGH	2033222	Other Boards/Universities	0	
			KAUR	F	SATNAM SINGH	2033222	Punjab School Education Board	0	
		28 202201003118	5 JASLEEN KAUR	F	JASBIR SINGH	2033222	Division Cohool Colored - Const		
		201003121		F	NIRMAL KUMAR	2033222	Punjab School Education Board	0	
		29 202201003130	5 HARLEEN KAUR	F	HARPREET SINGH	2033222	Punjab School Education Board	0	
	•	30 202201003141	9 MANPREET KAUR	F	PALWINDER SINGH		Other Boards/Universities	0	
	2	31 202201003145	7 JASHANPREET KAUR	F			Punjab School Education Board	0	
	3	32 202201003400	NAVDEEP KAUR		SUKHDEV SINGH	2033222	Punjab School Education Board	o	
	3	33 2022010034020	NITASHA BHANOT	F	SATNAM SINGH	2033222	Other Boards/Universities	0	
	3	4 202201003407	PRABHJOT KAUR	F	ASHWANI KUMAR	2033222	Punjab School Education Board	ō	
	-			F	SUKHDEV SINGH	2033222	Punjab School Education Board	0	
	3	5 2022010034094	HARMANPREET KAUR	F	AVTAR SINGH	2033222		U	
	3	6 2022010034111	TANISHA	F		1033222	Punjab School Education Board	0	
	3		SIMRANJEET		VIJAY KUMAR	2033222	Punjab School Education Board	0	
	2		KAUR	F	GURMEET SINGH	2033222	Punjab School Education Board	0	
	31			F	RAJEEV KUMAR	2033222			
	31		PAWANJOT KAUR	F	INDERJIT SINGH	2033222	Punjab School Education Board	0	
	40			F	SOM RAJ	2033222	Punjab School Education Board	0	
	41		NALAHAM AYIL	F	JANAK RAJ	2033222	Punjab School Education Board	0	
	42			F	SURJIT KUMAR	2033222	Punjab School Education Board	0	
	43		TANIYA THAKUR	F	DARWINDER SINGH	2033222	Punjab School Education Board	0	
	44			F	JANAK RAJ	2033222	Punjab School Education Board	0	
	45		GURLEEN KAUR	F	KARAMJIT SINGH	2033222	Punjab School Education Board	0	
	46		GURNEET KAUR	F	IQBAL SINGH	2033222	Punjab School Education Board	0	
	47		ANUREET KAUR	F	GURMEET SINGH	2033222	Punjab School Education Board	0	
	48	2022010035098	HARLEEN KAUR	F	NARINDER SINGH	2033222	Punjab School Education Board	0	
	49	2022010035146	DIBIYA	F	RAJINDER KUMAR	2033222	Punjab School Education Board	o	
	50	2022010035326	KRITI	F	VIJAY KUMAR	2033222	Punjab School Education Board	0	
	51	2022010035376	RAVNEET KAUR	F	PARWINDER SINGH		Punjab School Education Board	0	
	52	2022010035519	PRABHJOT KAUR	F	KULDEEP SINGH	2033222	Punjab School Education Board	0	
	53		ARSHDEEP KAUR	F	DALJIT SINGH	2033222	Punjab School Education Board	0	
	54	2022010035808		F		2033222	Punjab School Education Board	0	
	55		JASHANPREET		RAJIV KUMAR	2033222	Punjab School Education Board	0	
			KAUR	F	KULWINDER SINGH	2033222	Punjab School Education Board	0	
	56	2022010035836	SUNEHA	F	RAKESH KUMAR	2033222	Punjab School Education Board	3,998	
	57	2022010035848	JASMINE KAUR	F	KARAMJIT SINGH	2033222		0	
	58		HARMANPREET	F	JAGIR SINGH		Punjab School Education Board	0	
	59	2022010035893 7	CAUR		VAGIK SINGH	2033222	Punjab School Education Board	0	
				F	RAJ KUMAR	2033222	Punjab School Education Board	0	
		2022010035919 E		F	RAVI MAHAJAN	2033222	Punjab School Education Board	0	
		2022010036026 5		F	SUDHIR KUMAR	2033222	Other Boards/Universities	0	
		2022010036058 M		F	TIRATH RAM	2033222	Punjab School Education Board		
	63	2022010036103 H	ARSIMAR KAUR	F	MUKHWINDER SINGH	2033222	Other Boards/Universities	0	\bigcirc
	64	2022010036200 N	AVDEEP KAUR	F	BURJIT SINGH	2033222	Punjab School Education Board	0	C 4 . 2 . 2
	65 2	2022010036223 M	ANDEEP KAUR	F	SATNAM BINGH	2033222		٥	1 / 2/0
	66 2	2022010036254 NA	ANDANI VERMA	F	RAJ KUMAR	2033222	Punjab School Education Board	٥ (Principal Silvan
I		022010036270 SA		F	NAME OF THE OWN OF THE OWN OF THE OWN OF THE OWN	2033222	Punjab School Education Board	° Q	1. 5 :
		, -	EET ANGURAL	F	A.A.A.A.		Punjab School Education Board	°~7	1 5 3
		022010036319 SA		F		2033222	Punjab School Education Board	0	
		2()	120		THE PARTY AND ADDRESS OF THE PARTY AND ADDRESS	2033222	Punjab School Education Board	25	2
7		122010036486 AK		F -		2033222	Other Boards/Universities	$^{\circ}$	for Whom I see Principal
71		22010036500 SH		F		2033222	Punjab School Education Board	0	2, 2,
72	20	22010036514 AV	NEET KAUR	F	SATNAM SINGH	2033222	Punjab School Education Board	0	D. 20
-		22010036527 NAV	000000000000000000000000000000000000000	F	TEJINDERVEER	2033222			0.00



Guru Nanak Dev University,Amritsar



REGISTRATION FORM

RETURN FEE CHALLAN

Name of the College: PANDIT MOHAN LAL S.D. COLLEGE FOR WOMEN, GURDASPUR (Regular)

Class: B.A. Somoster - I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 20/10/2022 02:14 PM)

t-lles t	1. 202220E Date : 04/40/2022 44:02 AM	Valid Upto : 07/10/2022 11:59	PM Total No. of st	udents: 72
		No. of students A	mount per Student	Total Amount
S. No.	Fee Type	######################################	400	26400
1	Registration Fee	66	300	18000
2	Enrollment Fee	60	10000	2100
3	Special Migration Fee	6	350	6000
4	Verification Fee	6	1000	1500
5	Eligibility Fee	6	250	
6	Eligibility Form Fee	6	200	1200
		6	300	1800
7	Re-Cheking Fee	0	400	0
8	Continuation Fee	72	50	3600
9	World University Fee	72	100	7200
10	Student Holiday Home Fee	72	200	14400
11	Youth Welfare Fee	72	1070	77040
12	University Sports & Development Fee		60	4320
13	College Development Fee	72	20	1440
14	NSS Fee	72	3500	0
15	Verfication Fee (Foreign Students)	0		0
16	Eligibility Fee (Foreign Students)	0	3000	0
17	Late Fee	0	0	7200
18	S MA TENNESSEE	72	100	
19		0	400	0
20		72	0	0
20		ue Date : 07-10-2022)		172200*

* - If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted	for following	candidates
------------------	---------------	------------

s.	Student ID	Name	Gender	Father Name	Challan No.	Candidate Type	Fee	
lo.	2019010024503	JASPREET KAUR	F	TARLOCHAN SINGH	2033385	(B1) Already Regd. with GNDU and Admitted to new Degree	0	
		MANJOT KAUR	F	AMRIK SINGH	2033385	(B1) Already Regd. with GNDU and Admitted to new Degree	0	
1401		TARANDEEP KAUR	F	GULDEV SINGH	2033385	(B1) Already Regd. with GNDU and Admitted to new Degree	0	
	2020010030092		F	VIJAY KUMAR	2033385	Punjab School Education Board	0	
5	2021010031923		F	SUKHWANT	2033385	(B1) Already Regd. with GNDU and Admitted to new Degree	0	
6		AMANDEEP KAUR	F	LAKHWINDER SINGH	2033385	(B1) Already Regd. with GNDU and Admitted to new Degree	0	
	2021010066932		F	LOVELY KUMAR	2033385	Punjab School Education Board	0	
7		SIMRANJEET KAUF	R F	SURINDER SINGH	2033385	(B1) Already Regd. with GNDU and Admitted to new Degree	0	\supset
0.7%	202201000906		F	LAL CHAND	2033385	Punjab School Education Board	0	ogur Principal
9	202201001176		F	PINDERJIT	2033385	Punjab School Education Board	2	Di Pili
10	202201001330	PHAWAHISH	F	RAJESH KUMAR	2033385	Punjab School Education Board	VA.	Mohan Lal S.D. Control
11			F	SOKHA MASIH	2033385	Punjab School Education Board	Pt	Mohan Lal S.D. for Women, Gurding
12		52 MEHAKDEEP KAU	IR F	MANJIT SINGH	2033385	Punjab School Education Board	0	for war
13		35 RANJIT KAUR	F	PARMINDER SINGH	2033385	Punjab School Education Board	0	
14		AS JASHANPREET	F	BALJINDER	2033385	Punjab School Education Board	0	
1t https:	://collegeadm	ssions.gndu.ac.in/	CollArea/	ReturnChallan.a	spx			3/3



Guru Nanak Dev University, Amritsar **REGISTRATION FORM**



RETURN FEE CHALLAN

Name of the College: PANDIT MOHAN LAL S.D. COLLEGE FOR WOMEN, GURDASPUR (Regular)

Class: B.Com., Semester - I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 21/10/2021 11:39 AM)

Challan No. : 2017558 Date : 21/10/2021 11:39 AM Valid Upto : 02/11/2021 11:59 PM Total No. of students: 39

-trantair	No. : Editodo Date : Elitorede i Ilias Ain	valid opto , ozi i i zozi		
S. No.	Fee Type	No. of students	Amount per Student	Total Amount
1	Registration Fee	39	400	15600
2	Enrollment Fee	24	300	7200
3	Special Migration Fee	15	350	5250
4	Verification Fee	15	1000	15000
5	Eligibility Fee	15	250	3750
6	Eligibility Form Fee	15	200	3000
7	Re-Cheking Fee	0	300	0
В	Continuation Fee	0	400	0
	World University Fee	39	50	1950
10	Student Holiday Home Fee	39	100	3900
11	Youth Wellare Foe	39	200	7800
	University Sports & Development Fee	39	970	37830
12	College Development Fee	39	60	2340
13		39	20	780
14	NSS Fee	0	3500	o
15	Vertication Fee (Foreign Students)	0	3000	0
16	Eligibility Fee (Foreign Students)	0	0	0
17	Late Fee	39	100	3900
18	Alumni Fee (Colleges)	0	400	0
19	Re-Registration Fees	39	0	0
20	Challan Late Fee (RR)		77.Et	108300*
	Grand Total (Due	Date: 02-11-2021)		

* - if any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

Return submitted for following candidates

S. No.	Student ID	Name	Gender	Father Name	Challan No.	Candidate Type	Late
1	2021010019730	ARISHA KUMARI V	F	BISHAN DASS	2017558	Other Boards/Universities	
2	2021010022773	NAMITA V	F	SHEETAL KUMAR	2017558	Punjab School Education Board	
3	2021010053197	GURPREET KAUR	F	NISHAN SINGH	2017558	Punjab School Education Board	
4	2021010053210	BANITA DEVI	F	KULDEEP SINGH	2017558	Punjab School Education Board	
5	2021010053231	ASTHA SHARMA	F	DAULAT RAM	2017558	Punjab School Education Board	
6	2021010053284	KIRANJOT KAUR	F	JAGTAR SINGH	2017558	Other Boards/Universities	
7	2021010053299	PRABHJOT KAUR	F	PARUPKAR SINGH	2017558	Other Boards/Universities	
8	2021010053233	SIMARJIT KAUR	F	KULDIP SINGH	2017558	Other Boards/Universities	
9	2021010053406	ANJALI /	F	PARVEEN SINGH	2017558	Punjab School Education Board	
10	2021010053581	DISHA KHOSLA	F	NARINDER KUMAR	2017558	Punjab School Education Board	
11	2021010053587	MANINDER KAUR	F	LAKHWINDER SINGH	2017558	Other Boards/Universities	
12	2021010053666	1	F	RAJINDER KUMAR	2017558	Punjab School Education Board	
13	2021010053663	<u> </u>	F	ASHWANI KUMAR	2017558	Punjab School Education Board	
	2021010053003	^	F	SURINDERPAL BINGH	2017558	Punjab School Education Board	
14			F	MANOHAR LAL	2017558	Other Boards/Universities	1
15	2021010053740	NO. UNIO SERVICIONE COMPANDE SECULIARIO	F	VIJAY KUMAR	2017558	Punjab School Education Board	
16	2021010053815		F	TALJINDER SINGH	2017558	Other Boards/Universities	
17	2021010053853		55		2017558	Punjab School Education Board	
16	2021010053872	Salahanan Salah	F	ASHOK KUMAR			
19	2021010053898	MEENU V	F	SALWINDER MASIH	2017558	Punjab School Education Board	di.
20	2021010053951	MANPREET KAUR	F	DAVINDER SINGH	2017558	Other Boards/Universities	

Princippt. Mohan Lal S.D. College. Mohan Lal S.D. College. Gurdan Gurdan

Punjab College Admission

N.	2021010053976	PRIYANKA V	F	SUBASH SINGH	2017558	Other Boards/Universities	0
- 22	021010054035	TANIA V	F	ASHWANI KUMAR	2017558	Punjab School Education Board	0
23	#21010054111	SIYA KATAL	F	ASHOK SINGH	2017558	Punjab School Education Board	0
24	2021010054160	JASPINDER KAUR	F	JAGIR SINGH	2017558	Other Boards/Universities	0
25	2021010054405	MANJOT KAUR ~	F	RACHPAL SINGH	2017558	Other Boards/Universities	0
26	2021010054525	KAWALJEET KAUR	F	JAGTAR SINGH	2017558	Other Boards/Universities	0
27	2021010054674	ROSEPREET KAUR	F	RANJODH SINGH	2017558	Other Boards/Universities	0
28	2021010054692	SIMRANJEET KAUR	F	JAGIR SINGH	2017558	Punjab School Education Board	0
29	2021010054716	POONAM V	F	SUKHDEV RAJ	2017550	Punjab School Education Board	0
30	2021010054736	PALAK SHARMA	F	NARESH PAL	2017558	Punjab School Education Board	0
31	2021010054785	SHALINI YADAV	F	OMPRAKASH YADAV	2017558	Other Boards/Universities	0
32	2021010054828	MANJOT KUMARI	F	LAKHWINDER PAL	2017558	Punjab School Education Board	0
33	2021010054854	MANVI SHARMA	F	KAMAL SHARMA	2017558	Punjab School Education Board	0
34	2021010054904	MANSI SHARMA	F	SANTOSH KUMAR	2017558	Punjab School Education Board	0
35	2021010054928	ALIZABETH V.	F	VINAY KUMAR	2017558	Punjab School Education Board	0
36	2021010062821	KIRTI /	F	CHANGEJ	2017558	Punjab School Education Board	0
37	2021010062833	GURPREET KAUR	F	SUKHWINDER SINGH	2017558	Punjab School Education Board	0
38	2021010062850	SUKHJEET KAUR 🗸	F	GURDIAL SINGH	2017558	Punjab School Education Board	0
39	2021010066667	SCANIA -	F	SUNIL KUMAR	2017558	Other Boards/Universities	0

Principal
Pt. Mohan Lal S.D. College
for Women, Gurdaspur

0

100

400

0

Other Boards/Universities



Guru Nanak Dev University,Amritsar **REGISTRATION FORM**



RETURN FLE CHALLAN

Name of the College: PANDIT MOHAN LAL S.D. COLLEGE FOR WOMEN, GURDASPUR (Regular)

Class: B.Sc. (FASHION DESIGNING), Semester - I

Challan Payment/Verification must be done on or before valid date of challan

Return Submission Result (Printed On: 19/10/2021 11:21 AM) Total No. of students: 28

Challan No.: 2016604 Date: 19/10/2021 11:21 AM Valid Upto: 02/11/2021 11:59 PM Amount per Student No. of students 10000 400 25 Registration Fee 6900 300 23 **Enrollment Fee** 700 350 Special Migration Fee 2000 1000 500 250 Eligibility Fee 400 200 Eligibility Form Fee 900 300 Re-Cheking Fee 0 400 Continuation Fee 1400 50 World University Fee 2800 100 Student Holiday Home Fee 5600 Youth Welfare Fee 11 27160 970 University Sports & Development Fee 12 60 28 College Development Fee 560 20 14 3500 Verfication Fee (Foreign Students) 15 0 Eligibility Fee (Foreign Students) 16

Grand Total (Due Date: 02-11-2021)

2800

^{* -} If any discrepancy occurs for selected category or fees calculation, University is fully authorized to collect it from the college

0	aubmitted	600	following	candidates
Return	submitted	tor	tollowing	candidates

Late Fee

Alumni Fee (Colleges)

Re-Registration Fees

Challan Late Fee (RR)

17

19

Retu	irn submitted f	or following cand	idates				
S.	Student ID	Name	Gender	Father Name	Challan No.	Candidate Type	F
1	2014012105551	SHIVANI	F	DYAL CHAND	2016604	(B1) Already Regd. with GNDU and Admitted to new Degree	()
2	2017010031725	MANPREET KAUR	F	GURMEET SINGH	2016604	(B1) Already Regd, with GNDU and Admitted to new Degree	(9
3	2021010032039	JASHAN PREET KAUR	F	DILBAG SINGH	2016604	Punjab School Education Board	9
4	2021010032475	DIXITA BAJGAL	F	SUBASH	2016604	Punjab School Education Board	10
5	2021010057895	NAVJOT KAUR	F	VASSAN SINGH	2016604	Punjab School Education Board	
6	2021010058063	RAJBIR KAUR	F	HARDIAL SINGH	2016604	Punjab School Education Board	
7	2021010058112	SUKHBEER KAUR	F	ISHWAR DAS	2016604	Punjab School Education Board	
8	2021010058244	PARAMJIT KAUR	F	PALWINDER SINGH	2016604	Punjab School Education Board	9
9	2021010058280	TARANPREET KAUR	F	BALWINDER BINGH	2016604	Punjab School Education Board	
10	2021010058327	MANPREET KAUR	F	NAGINDER SINGH	2016004	(B1) Already Regd. with GNDU and Admitted to new Degree	1
11	2021010058367	MANVEER KAUR	F	JASWINDER BINGH	2010604	Punjab School Education Board	(
12	2021010058393	HARWINDER KAUR	F	DAVINDER SINGH	2016604	Punjab School Education Board	(
- 13	2021010058414	JAGMEET KAUR	F	GURMEJ SINGH	2016604	Punjab School Education Board	0
14	2021010059034	KIRANDEEP KAUR	F	GURNAM SINGH	2016604	Punjab School Education Board	0

BALWANT SINGH 2016604

Pl. Mohan Lal S.D. College for Women, Gurdaspur

https://collegeadmissions.gndu.ac.in/CollArea/ReturnChallan.aspx

15 2021010060606 MANJOT KAUR